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24.

25.
26.

B) 1000

A) 21

B) 2

A)1/9

B) -6

D)0

D) isincreased by 5
D) 12 Days

D) 120M

. C){x:x € N,xisa factor of 128}

. D)B-A=0

. D) 64

. B)P

. A)g*=pr
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57(52-6.5) _ 25—30 -5

" 5(13-25) 13-10 3
. A's1hrwork = 1/60 ,B’s1hrwork=1/90 |,

1 hr work of A and B together
= 1/60+1/90 =1/36, 36 hrs.
OR

NDIAN PUBLIC SCHOOLS®
CONFERENCE

A’s1daywork=% ,B’s1daywork=1/3 , C’s1daywork="%, Theyshoulddividethe

moneyintheratio%:1/3:% ,% x12:1/3x12:% x12, 6:4:3,
A’sshare 1—63x3900 =1800 , B's share :113 x3900 = 1200, C’s share = %x3900 = 900.
A’NB’ = (AUB)’ = n(U) = n(AUB) =700- 420 = 280.
a=5/2,r=%, ap=ar! ,ayp=5/2(1/2)" =5.(1/2)
OR
a=6, d=5 Sn=n/2{2a+ (n— 1)d} =n/2{12+ (n —1)5} =n/2(7+5n).

6!3!
110101 - 11010 = 11011 OR 11000001101
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27.

28

29

X

Logio = =1 , =10, x= 20x-10, -19x =-10, x = 10/19.
2x—-1 2x—1
. Average Speed=M=@ =7.5 km/hr.
1046 16
OR
280

Average speed:T =40 km/hr
. 1) n(A)=n(B) ii) 14+2x +4x-x

144+x+x = 3x+X 14+45x

14+2x = 4x 14+35

14=2x 49

X=7

30. 5+55+555+...

a

Sy

=5(1+11+111+...)

=5/9(9+99+999...)

=5/9(10-1 +10n -100-1 + 1000-1+....)
107—1

=5n/9 (10{ o1 }n)

=5/81 (10" -10 -9n)

OR

=64, ar’'=64, 729r°=64, r®=64/729, r=2/3,-2/3

=20 _ 187-128 =2059 or 2315/5 = 463

31. °2C,=270725, i)*Cyx*C,=2860 , ii)2Cyx%°C,=29900

32. Logx=log

%:5849 =% log (42.87) +l0g(84.9)-l0g(0.234)

=0.81605 +1.9289 —(-1+0.3692) =0.8161 +1.9289+1-0.3692
logx=3.3758 , x=antilog3.3758, x=2357

33. A’s1 day work = B’s 2 days work

B’s 1 day work = A’s % day work

Since A and B togethercan builda wallin 30 days

A’sone day work + B’s one day work = 1/30

A’s1 day work+ A’s % day work = 1/30

A’s3/2 days’ work=1/30 A’s 1 day work =2/3 x1/30 = 1/45
Therefore 45 days

OR

1 man’swork = 3/2 boys work

4 man’s work = 3/2x4 boys work

4 menand 9 boys work=9+6 =15 boyswork
Since 3 boys can do the work in 40 hrs

1 boy can dothe workin 3x40 hrs = 120 hrs
15 boys can do the workin 120/15 =8 hrs.

4. {M} mz

n/2{(2a+(n-1)d} “n2

2a+(m-1)d m

2a+(n-1)d n

2a(m-n)=[n(m —1) —m(n—1)]d
2a(m-n)=(m-n)d , 2a=d
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35.
36.

37.

38.

am _a+(m-1)d _a+(m-1)2a 2m-1

an  a+(n-1d  a+(n-1)2a 2n-1

Let alx=b!W = cl/z =k,
(ky)z = kx kz , k2y =kx+z

) B) 20

ii)A) 13

iii) C) 11
i)A)24

i) C) 24

iii) B) 120

i) EKAJBIGCHDF
i)l

ii)CandD

OR
since abcare in G.P.

, 2y=X+z, hence xyzare inA.P
°C.-%C3=8C, ,°C.=8C, +°C, ,°C=°Cs

3k 3k 3k ok sk ok sk k ki k

,r=3or9=r+3, r=3 orr=6
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